DHTMAB

USED ON
TECHNICAL DATA
O
N CONSTRUCTION HERMETICALLY SEALED C>___QZ““‘T“~€>-\T o
. MAIN CONTACTS Cl | |
2 ee@ CONFIGURATION 3PST | ‘ o
© VOLTAGE 115/200 VAC 400 HZ T34 ]
< /ffiﬁ-W7W HOLE CURRENT: 50 AMP 5 O | | o
2 [4.34] COIL DATA | | o
< 1 4 MTG. HOLES DUTY CYCLE CONTINUOUS o Z‘“‘*-ﬂ5\\j A2
5 COIL CURRENT 27 AMP AT 28 YDC AT 25°C Al } |
- —[FEVAC. TUBE NOMINAL  OPERATE VOLTAGE 28 VDC 1O
g %6%? MA X 250 MAX. HIGH MAX PICKUP VOLTAGE 18 VDC estaur : ) TERMANENT
: DROPOUT VOLTAGE 7.0 - 1.5 VDC TRt
5 2.000 s ENVIRONMENTAL DATA 0
. [50.8] AMBIENT TEMP . -55°C TO +71°C | |
: ALTITUDE 80 000 FT.
- y LIFE ELECTRICAL 50,000 CYCLES MIN
LIFE MECHANICAL 100,000 CYCLES MIN
A WEIGHT (EST.) 101, CIRCUTT DIAGRAN
V J//\\
6-32 UNC-2A
2 STUDS
SECTION A-A
— 384 06 NOTE :
L9 1==T. 0] . COIL TRANSIENT VOLTAGE LIMITED TO
10-32 UNF-2A +42 VOLTS REFERENCED TO ZERO VOLTS.
6 STUDS
Ai] % [| ‘ |] ‘Kl]A 131 6 51810-054 LOCKWASHER, #10 SPLIT 9-1616360-2 BRONZE
A E T —— ] “ 17 ? 51806-014 WASHER LOCK #6 SPLIT 1616360-7 BRONZE
L ! ! ! [ 11 ? 51805-011 WASHER LOCK NO 5 SPLIT 9-1616359-7 BRONZE
2.500 MAX ‘ 10| 6 51712-194 | WASHER 7/16 203-1D .031-TK 2-1616359-6
(63 5] 9 [ 2 ] 51702-144 [FLAT WASHER 1-1616358-0
8 ? 51205-591 SCREW - 5-40 X 3/8 RD. HD. 0-1616346-5 BRASS
1 6 50410-054 NUT - 10-32 X 5/16 X 7/64 HEX. 9-1616338-5 BRASS
.91 6 ? 50406-034 NUT 6-32 X 1/4 X 3/32 HEX 5-1616337-3 BRASS
[48 5] 5 1 19875-150 PRIMARY ASSEMBLY 8-1616953-1
4 1 182714-007 PLATE-WIRING DIAGRAM 0-1616954-¢6
R 3 1 16043-001 PLATE - NAME 3-1616169-5
é ? 1 15549-001 SHIELD - TERMINAL 9-1616165-8
=L= v 1 1 15537-008 COVER PLATE, BASE 5-1616165-0
§§S : : FIND| QTY PART OR NOMENCLATURE OR DRAWING OR FSCM TE MATERTAL
EE@ NO | REQD IDENTIFYING NO DESCRIPTION SPECIFICATION NO PART NO OR NOTE
£S5 DWN 18/10/08 [maTERIAL HEAT TREAT
e @ \@ CAGE CODE: 74063 (K
<Z‘§$ E D Har tman™oivision 175 N. DIAMOND STREET MANSFIELD, OHIO 44902
‘ DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD- ;HVK 18/ 1 0/08
INCHES (mm) ' - |
C ] 18-010103: TTEM 10 HARTMAN PN CORRECTED TO 51712-194 18/06/26 KK | DW APVD 18/10/08 [ ) TE Connectivity
T o DW - TE
B | 15-004650; TRANSTENT VOLTAGE =42V WAS =45V 15/03/24 MDM @ ggtg 18130 NANE CONTACTOR B 3PST
: DHIMAB
A RELEASED P FS ANGLESE ! e : SCALE HER%S/‘IAZETICQE&W%NI NOSEALED SHEET REV
LTR REVISION RECORD DATE DWN | APVD |SURFACE TEXTURE /7 NONE 3 6-1616953-7 | OF | C
3306-7 (7/17) ‘ ‘ ‘
8 7 6 5 4 3 ? |



